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1. Establish the existence or nonexistence of limits for the following sequences.

o ()

o {1+ -y

2.Given ¢ = .0000005, find a suitable M such that for all positive integers n > M,

2n345 2
S -3 <
3.Provethat lim a, = L ifandonlyif lim b, = 0 whereforeachninl,
n—od n—oo

bn = an — L



4.1f {a,} and {b, } aretwo convergent sequences satisfying a, < b, forall n,
can you conclude that lim a, = lim b, 2

n—00 n—00

5. Let {a,} and {b, } besequences having limits A and B respectively. Prove that
{a,+0b,}convergesto A+ B .

6. Let {a,} and { b, } besequences having limits A and B respectively. Prove that
{a, b, }convergesto A-B .

7. Suppose { a, } convergesto 0,and { b, } isbounded. Show that {a, - b, }
convergesto O .



